D1002356_AdLIGO_AOS_SLC ARM Cavity Baffle 1 hole Box Assy, PART PDM REV: X-024, DRAWING PDM REV: X-014

NOTES CONTINUED:

1.

2.

ALL SHEET METAL PARTS WILL BE ASSEMBLED AND INSPECTED
FOR HOLE ALIGNMENTS AS SHOWN BY MANUFACTURING.

DISMANTLE THE UNIT AND SHIP TO PORCELAIN ENAMELING.

PART NUMBER DESCRIPTION CHAMBER DRAWING TREE
D1002356-01 ACB 1 HOLE RIGHT QPD BOX ASSY BSCI-L1 E1100008-v2
D1002356-02 ACB 1 HOLE LEFT QPD BOX ASSY BSC3-L1 E1100009-v2
D1002356-03 ACB 1 HOLE RIGHT NO QPD BOX ASSY BSCI1-H1 E1100010-v2
D1002356-04 ACB 1 HOLE LEFT NO QPD BOX ASSY BSC3-H1 E1100011-v2
D1002356-05 ACB 1 HOLE RIGHT QPD BOX ASSY BSC4-L1 E1100008-v2
D1002356-06 ACB 1 HOLE LEFT QPD BOX ASSY BSC5-L1 E1100009-v2

1002356-01
1002356-02
1002356-03
1002356-04
1002356-05
1002356-06

UUUuUuUuU

2

1

D1002356-01/-05

D1002356-02/-06

D1002356-03

D1002356-04

ASSY PART
NUMBER

DIMENSIONS ARE IN INCHES
TOLERANCES:

XX
XXXt

VI 16 DEC 2010 o AN TR
V2 10 MAR 2011 E1100216 SEE CHART
15 | DI1100359 ACB ADJUSTABLE EXTENDER SHELF ASSY N/A ] 1
14 | DI1100391 ACB SHELF ASSY N/A ] 1
13 | 90313A200 | WASHER, FLAT, #10 (NAS 620-C10 MCMASTER | 18-8SSTL | 30 | 15 | 45
12 | 92210A999 | FLAT HD SHCS #10-24 UNDERCUT, McMaster 188S/S | 12 | 6 18
11 | DI1001365 ARM BAFFLE MIDDLE REINFORCING PLATE E”O{cg'e A424 o 2
10 | 90313A204 WASHER, FLAT, 1/4, MCMASTER 18-8SSTL | 225 | 112 | 337
9 N-2520-A HEX NUT, 1/4-20, SILVER PLATE, UC COMP. 188S/S | 75 | 37 | 112
8 | N-1024-A HEX NUT, #10-24, SILVER PLATE, UC COMP. 188S/S | 15| 7 | 22
7 92200A537 | SCREWSOCKL] LD EAL a0 UINC2AX T 30055 75 | 37 112
6 | 92210A236 FLATHD SHCS # 10-24 2125, UNDERCUT, 18-8SSTL | 3 | 2 5
5 | DI001363 ACB SIDE REINFORCING HATSECTION ngzr‘jﬁ'ysggel' 2 2
4 | DI000976 ARM CAVITY BAFFLE CTR SKIN EE?%'?QS?' ] 1
3 | DI000975 ARM CAVITY BAFFLE BTM SKIN Egjﬂﬁ'ysggel' 1 1
2 | DI000974 ARM CAVITY BAFFLE TOP SKIN E}:L?Qelesggell 1 ]
D1002357-01 ACB 1 HOLE RIGHT-QPD SKIN ENAMEE ST ]
Enamel Steel
| D1002357-02 ACB 1 HOLE LEFT QPD SKIN Eﬁiﬁ;@i; 1 ]
D1002357-03 ACB 1 HOLE RIGHT NO QPD SKIN ot Tyey | 1
D1002357-04 ACB 1 HOLE LEFT NO QPD SKIN EESQ%%S?' 1 ]
M PART NUMBER DESCRIPTION MATERIAL | QTY. | SPARE TOTAL
NOTES AND TOLERANCES: (INIESS OTRERWISE SPEGIED) PARTS LT PART NAME
2 RENOVE AL AT EOCES B2 ZHE0 MASIACHAST e Loy _ ACBIHOLE BOXASSY
j,i(f[ii%é%ﬂlEILIJTSJE%IBE:A(S\HE AND CHLORNE FUL;:::ATER YOLUBLE NEXTAS,SAY\DVANCED LIGO AOS o o Tor oz | D] 002354 vé

ANGULAR+ °

BOM

D1002355

3

N/A -

APPROVAL

M. Smith

D. Coyne

2

10 DEC 2010

20 DEC 2010 SCALE: 1:]

PROJECTION:

1

SHEET 1 OF 7




y Baffle 1 hole Box Assy, PART PDM REV: X-024, DRAWING PDM REV: X-014

D1002356_AdLIGO_AOS_SLC ARM Cavit

N
° @ 9 0
|
o Q
© _ o
N i
0
o
e
. g
2
e
o
o
a (o] il
(@) (@)
0 5 5 © @ (<] 5 5 u]
o o SECTION A-A
I; ] ] . ] . L:l SCALE2: 1
] u] o o o o 8] u]
oo o
0 o o o
0]
| [.020] A | ].020| A
- (33.61) - T—( mmﬂ
020 | A _ _ _ _ _ _ o o - _ _ _ _ _ _ a o
1 ) o ) ) ©c0 00 © © o — -
| I | ! BN o =
i I 1 : 1 u - ©
‘ | I ‘:
| 11 | | :Oo § AU ‘A
| 0 0 0 0 0 0 0 0 0 i 0 0 o || 1 5
| 11 | | | 11 | o o
: : | I : H | :‘ :
‘ | I I ‘:
: : | I : H | :‘ :
\ |
| : I of o
: : | I \ 000 : :‘ : -
\ m
| 11 oO° | | 11 |
11 i | |
| | o o
‘ 1 1" | 1 ‘:
i : ; 1]
‘ | I | ‘:
: : 1 1" : (] 1 :‘ :
| I O0 | | )
‘ 0 ‘\
: : | I | 1 : : l@ O
1 1" | i 1 |
Y o o o 000 00 ® 0 o|@H [—
= = =
- ( [546] ) — CALIFORNIA INSTITUTE OF TECHNOLOGY
| 21.50 LIGO  pMASSACHUSETTS INSTITUTE OF TECHNOLOGY

D1002356-01 SIZE DWG. NO. REV.
ACB 1 HOLE RIGHT-QPD BOX ASSY SCI:)ALE: 11 BE]HSOQ:BSé SHEETQO\F/72

7 6 5 4 3 2 1



y Baffle 1 hole Box Assy, PART PDM REV: X-024, DRAWING PDM REV: X-014

D1002356_AdLIGO_AOS_SLC ARM Cavit

|| N ]
H
o ©
[ 9 (10)
o (¢
e - o iy
o
O
° G
e
© Z5
o 3
o
a © il
(@») (@»)
@ TO° @ F
(@] (@] (@] (@]
SECTION C-C
O o SCALE 2 : 1
Q (@] (@] ® (@] (@] ;
(@]
0 0 o oo o 0 0
O O (0]
@] (@] (@] (@]
@
E
| |.020 | A | |.020| A
—- (33.61) —
020 A - o - o o -
A o @ o o 006 006 o © o o
==
© o)
D
o Cl1icC
0
il I :
0 ® © ] 0} 0 0 0] 0 ® ® 0 [ D
(@] @]
(29.26) C
(] (@] @]
@Om P
oO:
(@] @]
B
0
0O )
0
© o)
=
Y o | N | (o o o 000 00 © o o|l@W™ —
= — = = -
- ( [546] > _
= -—
- 21.50

LIGO CALIFORNIA INSTITUTE OF TECHNOLOGY
MASSACHUSETTS INSTITUTE OF TECHNOLOGY A

D‘I 002356'02 SIZE DWG. NO. REV.
ACB 1 HOLE LEFT-QPD BOX ASSY » DI10023546 w2

SCALE: 1:1 PROJECTION: SHEET3 OF 7



y Baffle 1 hole Box Assy, PART PDM REV: X-024, DRAWING PDM REV: X-014

D1002356_AdLIGO_AOS_SLC ARM Cavit

8 7 6 4 3
N
o 10
o
o) 7 §i7
N
J
° —
) N\
‘ 2
®
o
S %
a ©
(@) (e}
6 © © 6
© @ © © SECTION D-D
SCALE2: 1
(@) (@)
I; @] O ) o O O
0 ° o 0 ° 8 6
O O O
O O O O
@
] |.020| A .020
- (33.61) - (12.08)
D
//| .020] A - o L " o
A o o o o 006 60 o © o |@> ~
- o ° ==
»)
Y 0] 0 0 0 ® 0 ) 0) 0 >
o o
(29.26)
e} (e}
-]
o o
»]
© o
Y S| —— [0 o o 000 00 ©® 0 © co:’l?El
~ — = = o
_ [546]
A - 21.50
D1002356-03
ACB 1 HOLE RIGHT NO QPD BOX ASSY
8 7 6 4 3

2 1
LIGo N T or iR G ooy
SIZE DWG. NO. REV.
o DI1002356 w2
SCALE: 1:1 PROJECTION: SHEET 4 OF 7
2 1

A



y Baffle 1 hole Box Assy, PART PDM REV: X-024, DRAWING PDM REV: X-014

D1002356_AdLIGO_AOS_SLC ARM Cavit

0 H
10
° G
o e
7
@ (6] 4§_7
J
© G
0 1\
2>
)
)
o
o 9
d © n
(@) (@)
F
> o ° @ ° o _ SECTION E-E
SCALE?2:1
(@) (@)
g (@] O @ O O ;l
(o]
0 0 ° o o ° & 0
O O O
o o o 0
@
E
| |.020| A 1 |.020| A
- (33.6] ) -— ( ]2.08)
020 A - o - =) =
A o 1. f o o ©®°0 06 © o0 o — o
’ ==
i o o
D
P
Y ® 0 ) 0 0 0 0) 0 )
o o
(29.26) C
o] O
-]
o o
B
P
l@ o
Y ° o o 000 00 ©® 0 © o:@:’l@El —

!
Y

[546]
21.50
LIGO CALIFORNIA INSTITUTE OF TECHNOLOGY

D1 002356 04 MASSACHUSETTS INSTITUTE OF TECHNOLOGY A

ACB 1 HOLE LEFT NO QPD BOX ASSY o D1002354 v



y Baffle 1 hole Box Assy, PART PDM REV: X-024, DRAWING PDM REV: X-014

D1002356_AdLIGO_AOS_SLC ARM Cavit

8 5 4 3
10
[ = [
° o
A
o (¢}
1117
© 5 o
E L[
: : R
(@] (@]
-] CED © 6
(@] (@]
I; (@] @ o O :
6 oo o SECTION F-F
oo o SCALE 2 : 1
O O
@
_| [.020] A | |.020]A
— (33.61) -
//|.020] A - o L D o
A O Q@ o) o) 0 CO® ONED) =
==
: FIIF
il
) 0 0 [
(29.26)
0
0O
wO@
0
mO@
Y o | | IE __o© o, coo/ o @oo
( [401] ) _
15.79
D1002356-05
ACB 1 HOLE RIGHT-QPD BOX ASSY
8 5 4 3

LIGO CALIFORNIA INSTITUTE OF TECHNOLOGY
MASSACHUSETTS INSTITUTE OF TECHNOLOGY

SIZE DWG. NO. REV.
o DI1002356 v
SCALE: 1:1 PROJECTION: SHEET 6 OF 7

A



y Baffle 1 hole Box Assy, PART PDM REV: X-024, DRAWING PDM REV: X-014

D1002356_AdLIGO_AOS_SLC ARM Cavit

8 5
10
o
A
Q
A (e}
Q
®
6 n
(@»)
(@»)
® o (@] ;I
o o O
O O
(@]
@
_| [.020 | |.020| A
— (33.61) -—
//|.020| A o o
1 o @
; GG
il Iy
o) I .
(29.26)

Qo

0O

0O

D1002356-06
ACB 1 HOLE LEFT-QPD BOX ASSY

4 3
1]
‘ 2)
SECTION G-G
SCALE 2: 1
jum} a
(e} (e} QO =
=
©
»)
»)
o
o
»)
o
)
©
Ll
o o 000 Cot~ e
o i
[402]
15.83
4 3

LIGO CALIFORNIA INSTITUTE OF TECHNOLOGY
MASSACHUSETTS INSTITUTE OF TECHNOLOGY

SIZE DWG. NO. REV.
o DI1002356 v
SCALE: 1:1 PROJECTION: SHEET 7 OF 7

A



	Sheet1
	Drawing View3

	Sheet2
	Drawing View4
	Drawing View6
	Drawing View7
	Section View A-A

	Sheet3
	Drawing View15
	Drawing View16
	Drawing View18
	Section View C-C

	Sheet4
	Drawing View20
	Drawing View21
	Drawing View23
	Section View D-D

	Sheet5
	Drawing View25
	Drawing View26
	Drawing View28
	Section View E-E

	Sheet6
	Drawing View29
	Drawing View30
	Drawing View32
	Section View F-F

	Sheet7
	Drawing View33
	Drawing View34
	Drawing View36
	Section View G-G


